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In SI units, the dimensions of lli is:
Vo
Options:

41652949562, AT’M~1L~1
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Options:

2 1 1
41652949562, AT'M™ L

n

41652949563, ATPM~1L-2
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41652049564, A TML
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41652949565, A1 "ML
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Ship A is sailing towards north-east with

velocity 0 =30 ISD; km/hr where

J"' + +
points east and jr north. Ship B is at a

distance of 80 km east and 150 km north of
Ship A and is sailing towards west at
10 km/hr. A will be at minimum distance
from B in :
Options:

41652949565, 2 hrs.

41652049567, -2 hrs.
41652949585, 2.0 hrs.

41652949569, 3.2 hrs.
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41852949566, 429<H
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416525943567,

He

418523949565, 2.6 H<

41652949569, 32 q<H
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Four particles A, B, C and D with masses

m, =m, mg=2m, m-=3m and mp=4m
are at the corners of a square. They have
accelerations of equal magnitude with
directions as shown. The acceleration of

the centre of mass of the particles is :
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Options:
41652849570, L€ro
a{343)

416525843571,
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Options:

A

416525943570,

41652949571, ali'f}
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d
41652949572, O

-9
41652349573, 51 J)

Question Number : 4 Question Id : 41652912699 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



A particle moves in one dimension from
rest under the influence of a force that
varies with the distance travelled by the
particle as shown in the figure. The kinetic
energy of the particle after it has travelled

Imis:

Forcej 2 4./
(inN) 14 :
1 I '
1. 2 3
Distance —
{in m)

Options:

41652049574, 2

41652949575, 09

41652040576, 4]

41652949577, 2]
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41652049574, 2

41652949575, 09



41652940576, 4]

41652949577, 20 ]
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A thin circular plate of mass M and radius
R has its density varying as p(r) = Py ¥ with
P, as constant and r is the distance from its
center. The moment of Inertia of the
circular plate about an axis perpendicular
to the plate and passing through its edge is

I=a MR2. The value of the coefficient a is

Options:

8
416525343578, é

3
41552343579, A

:‘y
41852949580, 5

%
418523943581, 7 <
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Options:
-?y
41652949578, /D

3
41652943573, A

3
416525943580, /5
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Four identical particles of mass M are
located at the corners of a square of side
‘a’. What should be their speed if each of
them revolves under the influence of
others’ gravitational field in a circular orbit

circumscribing the square ?

Options:
/G[‘-.l
1.21
416529495582, V a
GM
1.35
41652949583, a
||G[\.1
1.41.l‘| _
41652949584, a
fGM
1.16 \]I
41652949585, a
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1.21 J

41852949582, d

GM
1.35
416525943583, d

IGM
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1.16 \‘| =

41852949585,
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A boy’s catapult is made of rubber cord
which is 42 cm long, with 6 mm diameter
of cross-section and of negligible mass. The
boy keeps a stone weighing (.02 kg on it
and stretches the cord by 20 cm by applying
a constant force. When released, the stone
flies off with a velocity of 20 ms = Neglect
the change in the area of cross-section of
the cord while stretched. The Young's
modulus of rubber is closest to :

Options:

2

"
41652949586, 10° Nm

]

3
41652949557, 10° Nm

[

F: |
41652949555, 107 Nm

(]

41652949589, 10° Nm

Question Number : 7 Question Id : 41652912702 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



WWET@H 42 cm &= 3R 6 mm
YL FIE o SATH HI T2 I ST 6 9,
fSeT 5= 9H T3 ¥ | =1 0.02 kg 91
U Teg¥ 5H W T ¢ SR =1 %1 UE fEd
a1 H 20 cm G A1Fd Tl & | W 53 BiE
2 99 TR 20 ms 1 % 97 § W1 2 aid
T W 2 T I FE H aftadd T g
TS N A GRS [N T Ty W

Options:

[

s
41652949586, 107 Nm

-

3
41652949557, 10° Nm

[

4
41652949555, 107 Nm

I

41652949589, 10° Nm
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Water from a pipe is coming at a rate of
100 liters per minute. If the radius of the
pipe is 5 cm, the Reynolds number for the
flow is of the order of : (density of water=
1000 kg/ m?, coefficient of viscosity of
water=1 mPa s)

Options:

41652949590, 104

3
41652949591, 10

;
41652949592, 10°

2
41652049593, 10

Question Number : 8 Question Id : 41652912703 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



U e F 9HT 100 wex wfd faTe #t s ¥
ﬁﬁ‘?ﬁliﬂf%l aﬁ‘iﬁq?ﬁlﬁWSCIH%,ﬂﬂ
TaTE H1 oS HEM & OHIE T (IE H
A =1000 kg/m?, I 1 G qolH=
1 mPa s)

Options:

41652949590, 10

3
41652949591, 10

(&)
41652949592, 10

2
41652949533, 10

Question Number : 9 Question Id : 41652912704 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Two identical beakers A and B contain

equal volumes of two different liquids at
60°C each and left to cool down. Liquid in
A has density of 8 X 10> kg/m? and specific
heat of 2000 ] kg~ ! K~ ! while liquid in B
has density of 10° kg m 3and specific heat
of 4000] kg ~ 'K~ 1. Whichof the following
best describes their temperature versus
time graph schematically ? (assume the
emissivity of both the beakers to be the

same)

Options:

415523435394,

60°C K

T [\B
bR

41652949595, | t—



60°C 4

41652543556,

416525943597,
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Options:

416525943594,

4155259435595,

41552343536,

416525343557,
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A thermally insulated vessel contains

150 g of water at 0°C. Then the air from the
vessel is pumped out adiabatically. A
fraction of water turns into ice and the rest
evaporates at (0°C itself. The mass of

evaporated water will be closest to :

(Latent heat of wvaporization of
water =2.10 x 10° Jkg ~ ! and Latent heat of
Fusion of water =3.36 x10°J kg~ 1)

Options:

41652949598, 1208

41652949599, 20 8

41652949600, ° 8

41652949601, 1908
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0°C W 150 g T =l SWH1F faem o= H T
TS | U | A1 I Ea 9sE gr et
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Options:

41652949593, 1908

41652949599, 20 8

41652949600, 2 8

41652849601, 1908
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Correct Marks: 4 WrongMarks: 1
If 1022 gas molecules each of mass

10-26 kg collide with a surface
(perpendicular to it) elastically per second
over an area 1 m? with a speed 10* m/s,
the pressure exerted by the gas molecules
will be of the order of :
Options:

3 2
41652949602, 107 N/m

1 2
41652949603, 107 N/m

3 2
41652949604, 107 N/m

16 2
41652949605, 10°° N/m
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Options:

3 2
41652849602, 107 N/m
4 2
41652949603, 107 N/m
3 2
41652949604, 107 N/m

16 2
41652949605, 10° N/m
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Correct Marks: 4 Wrong Marks: 1
A steel wire having a radius of 2.0 mm,

carrying a load of 4 kg, is hanging from a
ceiling. Given that g=3.1 m ms 2 what
will be the tensile stress that would be
developed in the wire ?

Options:



[

H
41652949606, 0-2X10° Nm

[}

&
41652940607, 31X 10° Nm

(]

&
41652949608, 6.2X10° Nm

2

. s
41652949609, +-8X10° Nm
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Options:

]

6
41652949606, 2-2%10° Nm

Ia

6
41652949607, 5-1X10° Nm

[

&)
41652949805, 0-2x 107 Nm

2

. s
41652949609, +-8X10° Nm
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1 A B [
¥ | — « | —

A wire of length 2L, is made by joining two

wires A and B of same length but different
radii r and 2r and made of the same
material. It is vibrating at a frequency such
that the joint of the two wires forms a node.
If the number of antinodes in wire A is p
and that in B is q then the ratio p: g is:
Options:

41652949610, 112

41652949611, 0 2



41652040612 419

41652949613, 1:4
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Options:

3

41652949610, 1°

41652949611, 00

k=]

41652949612, 4

41652949613 1:4
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The bob of a simple pendulum has mass

2 g and acharge of 5.0 pC. Itis at restina
uniform horizontal electric field of intensity
2000 V/ m. At equilibrium, the angle that
the pendulum makes with the vertical is :
(take g=10m/ 5)

Options:

. 1
416525949614, )

’ 1
416529490615, tan” ° (5.0)

: 1m
41652349616, tan (2.0)

; 1
416525943617, il o
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5.0 pC a9 FTe 3R =99 2 g %1 UF 93
STeTeh &1 =1 dear 2000 V/m & UF UHEAH
dferst forega & fam s W71 |
¥, Feater ¥ etk S HI0 G, T8
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Options:

1 1
41650040614 20 (03)

’ 1
416529490615, tan ° (5.0}

: 1m
41652349616, tan (2.0)

; 1
416525943617, il o
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Correct Marks: 4 WrongMarks: 1
A solid conducting sphere, having a charge

Q, is surrounded by an uncharged
conducting hollow spherical shell. Let the
potential difference between the surface of
the solid sphere and that of the outer
surface of the hollow shell be V. If the shell
is now given a charge of —4 Q, the new
potential difference between the same two
surfaces is :

Options:

41652949618, V

41652949619, 2V
41652949620, — 2V

41652049621, 4V

Question Number : 15 Question Id : 41652912710 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



ST e @Ead el 99 9 5
T ¥ 3 TR F g A WEe FEd &
e g2 % == favarm v #) At FEe
9 U AEW —4 Q faan = &, o= 3= 2
el o 4 A favEra @

Options:

41652949618, V

41652949619, 2V
41652949620, — 2V

41652049621, 4V
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Voltage rating of a parallel plate capacitor
is 500 V. Its dielectric can withstand a
maximum electric field of 10° V/m. The
plate area is 10 ~# m2, What is the dielectric
constant if the capacitance is 15 pF ?
(given €;=8.86 x 10~ 2 C2/Nm?)

Options:

41652949622, 62

41652949823, 0.8

41652040624, 5

41852949625, 8.5
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U GHIH 2 G161 i alees 407 (rating)
500 V 81 TR wrEEd geid afysan
106 V/m =1 Toe[d &5 9ed X Ul ¢ | @I
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1 79[ 15 pF 81 A WEgdis H1 A9 2
(e & ¢, =8.86 x 1012 C2/Nm?)

Options:



41652940622 0-2

41652949623, .8

41652949624, 45

41652940625, 82
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For the circuit shown, with RI=I.D {1,

R2=2.D Q, EI =2V and E2= E3 =4 V, the
potential difference between the points ‘a’

and ‘b’ is approximately ( in V) :

. "
. =Ry i
R, b
Options:

41652949626, -/

41652949827, 3.3

41652949628, 2.7

41852949629, 2.3
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Options:

41652949626, -7

41652949627, 3.3

41652949628, 2.7

416525343629,
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A circular coil having N turns and radius r

carries a current L. It isheld in the XZ plane

M
in a magnetic field Bi. The torque on the
coil due to the magnetic field is :
Options:

)
41652949630, Brrol N

: )
B 1
41652949631, N
41652949632, ZeTo
2

Br
41652949633, TN
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541 r IR ==t N 9Tt U g Foedl §
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Options:

)
41652949630, Brrol N

4

B 1
41652949631, N



41552394363%2. T

2

Br
41652949633, TN
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An alternating voltage v(t)= 220 sin 100t
volt is applied to a purely resistive load of
50 0. The time taken for the current to rise
from half of the peak value to the peak
valueis:

Options:

41652049634, 2.2 ms

41652949635, O3 MS

41652940636, O MS

41652949637, /-2 MmS
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& W& arees | o(t) =220 sin 10047t
diee 1 T 50 () Wi T o T g | 4R
=1 HA =14 FIvat 91 | 9oi o 9 7% J2
H o1 T9T 1 HE B

Options:

41652949634, 2-2ms

41652949635, O3 MS

41652949635, O NS

41652949637, /-2 MmS
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A thin strip 10 cm long is on a U shaped
wire of negligible resistance and it is
connected to a spring of spring constant
0.5Nm ! (see figure). The assembly is kept
in a uniform magnetic field of 0.1 T. If the
strip is pulled from its equilibrium position
and released, the number of oscillations it
performs before its amplitude decreases by
a factor of e is N. If the mass of the strip is
50 grams, its resistance 10 {1 and air drag

negligible, N will be close to :

Fa N

£y RN

- 0000 410 cm

\B % % % ¢

N XWX ¢
Options:

41652949638 1000

418529496359, 5000

41652949640, 10000

41652949641, 20000
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TFT0g YiqAd 9l Ueh U AR & R T 10 cm
I U Tael 98l W § #R 39 0.5 N/m
FHMT TEwi® 9t Uh FAME | Sire T
(faa <) | F9EEE ®1 U6 0.1 T & THEH
ST 45 § T T €1 4afe gt i sHE
qrrEE | @i o § 2R e 9 fem
T &, 79 SHF AEM H e F T T FH A
¥ forar ford 714 <o+t 9= N 21 9fe o2
%1 FAHM 50 T &, S9! T 10 Q ¥ 3R
a1 190 (drag) T4 T, T N 1 HH T

Options:



41652949638 1000

416525943639, 5000

41652949540, 10000

41652949641, 20000
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Correct Marks: 4 WrongMarks: 1
A 20 Henry inductor coil is connected to

a 10 ohm resistance in series as shown in
figure. The time at which rate of dissipation
of energy (Joule’s heat) across resistance is
equal to the rate at which magnetic energy
is stored in the inductor, is :

i 100}
+\-"“-"“\.‘I"'1'J"r_|

E-L €20 H
(-

Options:
1
—In2
41652949642, 2

41652949643, 2N 2

~

41652940644, N2

41652949645, N2

Question Number : 21 Question Id : 41652912716 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 4 Wrong Marks: 1
T 20 TR W0 FUSEt #1 10 = gang °
grofi # Siren T & s o fem o e
E Wiy H g e (S SU0) w5 W
Fuee | di9d FESE F9l Hi 51 F T9qH
21, H THG &1 AT Fifad |

i 10 £}

E-L €20 H
I

Options:



—In2
41552949542,

41652949643, 21N 2

-?

41652049644, N2

41652040645, N2

Question Number : 22 Question Id : 41652912717 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
A plane electromagnetic wave travels in

free spacealong the x-direction. The electric
field component of the wave at a particular
point of space and timeis E=6 Vm ] along
y-direction. Its corresponding magnetic
field component, B would be :
Options:
41652540646, 2X 1078 T along z-direction

41652949647, 01077 Talong x-direction

gl b . i
41650940645, 21077 Talong y-direction

: 8 N o
41652949649, 010 " Talong z-direction

Question Number : 22 Question Id : 41652912717 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 4 Wrong Marks: 1

U BHGA [99d THHE W g AH H
x-Teum # wfoeita 81 s F U fasm fag
W T F faEd &5 9w, UH §Hd W
E=6 Vm ! y—fﬂﬂl H 21 9% 99 THH
TEHE &5 T2 B 2

Options:

41652949646, e H2 %1078 T

e T 6 8
41652949647, H6xX107°T



- o B
41650949645, YT A2X1072T

e 8
41650949649, ZTEMH6x10°8T

Question Number : 23 Question Id : 41652912718 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
An upright object is placed at a distance of

40 cm in front of a convergent lens of focal
length 20 cm. A convergent mirror of focal
length 10 cm is placed at a distance of
60 cm on the other side of the lens. The
position and size of the final image will
be :

Options:

40 cm from the convergent mirror,

diésbadassg samesizeas theobject

20 cm from the convergent mirror,

41650040651 Same size as the object

20 cm from the convergent mirror,
4165294965 tWice the size of the object

40 cm from the convergentlens, twice

41652049653, e size of the object

Question Number : 23 Question Id : 41652912718 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

20 con HIFH TG 9 U ANERT o9 6
qrEE 40 cm F T W TEH |G G5 F1
T 1 o9 % g9 R 60 cm F 0 W
10 cm TRIEHE TG 96 U SATTEE 5907
T T2 | AT wiatee w1 feafa S s
ET

Options:

AREET 299 H 40 cm T, T % IH9H

41652949850, “NDIL



FAREE =99 H 20 cm W, T % 9H9H

41652949651, SnepiL

AR T9U T 20 cm W, F5 6 ATFHR

415523943652, s

ATYER &7 9 40 cm T, T F ATHR

4165259439653, .53

Question Number : 24 Question Id : 41652912719 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

In an interference experiment the ratio of
a _1
dn 3

amplitudes of coherent waves is

The ratio of maximum and minimum
intensities of fringes will be :

Options:

41652949654, 2

41652949655, 4
416529496556, Y

41652949657, 18

Question Number : 24 Question Id : 41652912719 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
ot =afaaraor & WA H Felrag |4l & STEE

a; 1
rﬂaﬁqm;;f;%l il =1 eifimras 2R

Options:
41652949654 2
41652949655 4

41652949656, Y

41652940657, 18



Question Number : 25 Question Id : 41652912720 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
In figure, the optical fiber is [=2 m long
and has a diameter of d =20 pm. If a ray of
light is incident on one end of the fiber at
angle 0 ) =4(F, the number of reflections it
makes before emerging from the other end
is close to :

(refractive index of fiber is 1.31 and

sin 407 =0.64)
o “x\ r d L
E
_____ - flx BZ \““\\\ /
40° T
Options:

416529496558, 2/ 000

41652949859, 66000

416525943660, 55000

41652949651, 45000

Question Number : 25 Question Id : 41652912720 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

3 ¥ [=2 e @ 991 d =20 pm =™ &
UF WHW a4 H famEn ¥ afE e w6
foFTon 50 o) F U O W 0, =40° I W
ATfea 2t & o g5t fat § e 3 od 5w
TS T TR WA B0

(IS 1 AT 1.31 € 3 sin 40°=0.64)

|

d
40557 T

Options:
41652940658, 27000



41652949659, 06000

41552343660, 55000

41652949661, 45000

Question Number : 26 Question Id : 41652912721 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Two particles move at right angle to each
other. Their de Broglie wavelengths are A,
and A, respectively. The particles suffer
perfectly melastic collision. The de Broglie

wavelength A, of the final particle, is given

by :
Options:
A A
41652949662, 2
Pk: hfﬂz
41652949663,
2 1 | 1
O TR
41652949664, 1 72
; I | : 1
R e )
41652949665, N M A

Question Number : 26 Question Id : 41652912721 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 4 WrongMarks: 1
<1 U UF THL H orrad femmed 8 nfaviea
T FUT FI S-FrEl G gl HH:
N, TN, T | T N BT U STy W
a1 2 | I 0 F S-S T A 59
Eersic a1
Options:

NESELY

416525943662, 2

A= ;’kfﬂz

416525949663,



2_ 1.1
41652049664, ~ M M2
Aty
41652949665. MO

Question Number : 27 Question Id : 41652912722 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Radiation coming from transitions n=2 to
n=1 of hydrogen atoms fall on He " ions
in n=1 and n=2 states. The possible
transition of helium ions as they absorb
energy from the radiation is :

Options:

416523949666, N=2—n=5

41652049667, N=1—n=4

41652049665, N=2—N=3

:? —i
41652049669 N=2—n=4

Question Number : 27 Question Id : 41652912722 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

BIEEIaA TN Fin =2 H n= 1 H&HA0 H e
fafsm He* i n=1 37 n=2 s/=5ensfi W
IO I HYE HHAT E

Options:

41652949666, N=2—n=5

41652049667, N=1—n=4

41652049665, N=2—Nn=3

:j —i
41652049669, N=2—n=4

Question Number : 28 Question Id : 41652912723 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



The reverse breakdown voltage of a Zener

diode is 5.6 V in the given circuit.

200 )

-"|"|"l"|'.ll
9 UI i = am 0

The current Iz through the Zener is :

Options:
41652949670, 19 MA

41652949671, 10 MA

41652049670, ¢ MA

41652949673, 17 mA

Question Number : 28 Question Id : 41652912723 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
g9y H, S FI 9Hieye Wed dieedl
56 Ve SLH umL

200

\"I'r' L
f I “SGD Q

Options:
41652949670, 19 MA

41652949671, 10 MA

41652949672, / MA

41652949673, 17 mA

Question Number : 29 Question Id : 41652912724 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The wavelength of the carrier waves in a

modern nptical fiber communication
network is close to :

Options:



41652949674, 1900 nm

41652949675, 200 nm

41652949676, 2400 nm

41652949677, 000 nm

Question Number : 29 Question Id : 41652912724 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

U AT YIS HEal HoL S H 98
Options:

41652949674 1900 nm

41652949675, 200 nm

41652949676, 2200 nm

41652949677, 000 nm

Question Number : 30 Question Id : 41652912725 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

A 200 (1 resistor has a certain color code. If
one replaces the red color by green in the
code, the new resistance will be :

Options:

41652049675, 1004

41652949879, J00 )

41652949650, 2000

41652940651, 20042

Question Number : 30 Question Id : 41652912725 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

200 ) F TF WicH 1 T FAiv=d 90 Hehe
(color code) g1 Afe @ 9 H e 99 |
ferzenfim =2 30 € @ 72 wfed 2rm



Options:

41652949675, 1004
41652949679, J00 £

41652949850, 2000

416525949681, 200 £

Cherrstry
Section Id : 416529251
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 30
Number of Questionsto be attempted: 30
Section Marks: 120
Display Number Pane: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section | d: 416529391
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 41652912726 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

An organic compound neither reacts with
neutral ferric chloride solution nor with
Fehling solution. It however, reacts with
Grignard reagent and gives positive
iodoform test. The compound is:

Options:

416525943682,

416525943653,



e HCEI .{5
L -"'"'.CI: I?
41652949684, O
(|)H
i CoHs
1]
41652949685, O

Question Number : 31 Question Id : 41652912726 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

T FHIE % AITF A 91 ISHA FiF FAREe
o= & =y &R A & e faeem F 9y
Al Faa &1 FEE 98 IR TR
Al & WY AT T 2 a9 RS

Options:
Q
i ¥
i “CH;
OH
41652949652,
416529439655,
41652949654,

416525943685,



Question Number : 32 Question Id : 41652912727 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Maltose on treatment with dilute HCI
gives :

Options:

41652049686, D-Galactose

41652949657 D-Glucose and D-Fructose

41652949688, D-Fructose

41652940659 D-Glucose

Question Number : 32 Question Id : 41652912727 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Areerd 7 HC 3 919 s1foshd &3 W2l &

Options:

41652949686, D-TlefeR

41652949657, D-TIHH 781 D-Fels]

=,

41652040685, D-TelE

41652949659, D-THMH

Question Number : 33 Question Id : 41652912728 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Coupling of benzene diazonium chloride

with 1-naphthol in alkaline medium will
give :

Options:



416525943630,

|
41652949691, \:::_—-l

OH

“ﬁf]\;'f’ \“N =N.

[

o

4168523949652, e

416525943653,
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Correct Marks: 4 WrongMarks: 1

G A H, J9[ SESEE FEREe &

1- 99Tl % 1Y g9 7 T 9 2l @

Options:

N
Il

‘
OH

415525943630,

OH
L

415523943632,



ey
N
N

415523943633,

Question Number : 34 Question Id : 41652912729 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The major product of the following reaction

15 :
(1) AICIE, heat
(ii) H
Options:
O
Cl
41652949694, O
41652949695, CO.H Cl

4165259436396,



O
Question Number : 34 Question Id : 41652912729 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

4165239436397,

f1 sAfuferan =1 7= 3o 2
{]j 1
(i) AICI,, FT
QO+ - -
o (i) H,O
1l
)
Options:
0
Cl
41652949694, O
41652949695, CO.H Cl
_COH
1"-._—_ ..'"
41652949696,
41652949697, O

Question Number : 35 Question Id : 41652912730 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



The major product of the following reaction
is :

-OCH,
Conc HBr (excess)

e

heat

H=CH,

Options:

4165259436595,

41552343639,

41852949700,

418523949701,

Question Number : 35 Question Id : 41652912730 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Trfafiga sifafma = 5= 3= &

w5, HBr (smfea 5)
| ]

CH,CH,Br

H=CH,

Options:

4165253436358,



,~DH

Br— CHCH,

41552949599,
‘ -Br
| {ZCI I,Br
41552949700,
41552949701,

Question Number : 36 Question Id : 41652912731 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 4 Wrong Marks: 1

The major product of the following reaction

15 :

P .e*l |H ~Br NaBH 4

ST N X
‘ || MeQH, 25°C
."H"":-\",_"'::J___.-""

Options:

,z’*“‘ - O

41652949702, =

OH

41652949703,

41652049704, =

41652949705, =



Question Number : 36 Question Id : 41652912731 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

e sfuferan 1 &8 sEE €

e xl(f -Br NaBH,

e H"-\-.. L 2

[ J "~ MeOH,25°C |

Options:

41652949702,

OH
’/"'--\"""‘w-\J/-"l*-\-L o L Br
41852949703,
OH

41652949704,

41652949705,

Question Number : 37 Question Id : 41652912732 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Which of the following amines can be
prepared by Gabriel phthalimide
reaction ?

Options:

41652049705, NEO-pentylamine

41652949707 D-butylamine

41652949705, FPutylamine

triethvlamine
41552949709, :

Question Number : 37 Question Id : 41652912732 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 4 WrongMarks: 1

=1 9 9 = 1 Ui Tifaue Sfemmse safufm
FEG R B e C )

Options:

416525943706, = [

41652949707, n-FfALHM
41652940708, © HE‘ il

416525943703, STREIHCTUHI

Question Number : 38 Question Id : 41652912733 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The ITUPAC name of the following

compound is :

{FIIS (li}II
H,C—CH-CH—-CH,—COOH
Options:
41652949710, 3-Hydroxy-4-methylpentanoic acid

41650949711 FMethyl3-hydroxypentanoic acid

4,4-Dimethyl-3-hydroxybutanoic
41652949712, acid

2-Methyl-3-hydroxypentan-5-oic

41652940713, acid

Question Number : 38 Question Id : 41652912733 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
fr=1 Aifw =1 B g WU (IUPAC) 9™
e:
s ot
I ISC—CI [—CH—-CI IQ—CDDI |
Options:

41650949710 - ETESAHI-4-HIATTMEH TS



L e A Y

4152949711, —l—ﬂfﬂﬁ-?— "

Alesooagris LA-STEHIUE-3-RESET=IeATS TfHe

41652949713, 2-HIAA-3-TESTHII=A-5-3115F TfHS

Question Number : 39 Question Id : 41652912734 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
An organic compound ‘X' showing the

following solubility profile is :

at
kbl » insoluble
X —
5% HCI
» insoluble
10% NaOH
» soluble
10% NaHCO.
3 3 » insoluble
Options:

41652949714, Oleic acid

41652949715, m-Cresol

41652949716, O-Toluidine

41850049717 Denzamide

Question Number : 39 Question Id : 41652912734 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

yefeid &l €, 2
EG] , atfaer
3% HCI ,
10% NaOH , fa
10% NaHCO, , s

Options:
41652949714, Alelz ke



41652849715, MEHHE

41652949716, O LS

s

41652949717, ASTHIES

Question Number : 40 Question Id : 41652912735 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
In the following compounds, the
decreasing order of basic strength will be :
Options:

C,H:,.WH > C,H-INH, > NH
41652949?18.{ Hs); 2 e 3

a1a50a4g71g VHa > GHENH, > (CGHs),NH

41650949700, (C2H5)NH > NH; > CHNH,

41652040701 “2HsNHy > NH; > (G H5),NH

Question Number : 40 Question Id : 41652912735 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
frefefam i 4, s ame %1 92 w5
eI :

Options:

C.H).MH >C,H.NH, > NH
41652949?18.{ 2Hs)2 25 2 3

41650949719 VHa > GHENH, > (CHs),NH

41650949700, C25)NH > NH; > CHNH,

41850049721 —2HsNHp > NH; > (GH;),NH

Question Number : 41 Question Id : 41652912736 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The size of the iso-electronic species C1-,

Ar and Ca?* is affected by :
Options:



Principal quantum number of

4165594970 valence shell

41652949723, Ticlear charge

azimuthal quantum number of

41652949724 Vvalence shell

electron-electron interaction in the

41852049755, outer orbitals

Question Number : 41 Question Id : 41652912736 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

= 4 9 f&9% 3/ gusdsH Ty
Cl~, Ar @91 CaZ* =1 3R W9Tad 20
Options:

41652949722, Ll a

41652949723, TS SR

41652949724, THISIHAT SHIRT <hl TSIHHS FEH &=

41650949705, e I H TEEE-SoEE STEATAET

Question Number : 42 Question Id : 41652912737 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

With respect to an ore, Ellingham diagram
helps to predict the feasibility of its
Options:

41652949726, Thermal reduction

41652949727, Electrolysis

41652949708, Zone refining,

41655949729, Vapour phase refining

Question Number : 42 Question Id : 41652912737 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



sfeT g U SR+ T H O s B
1 FEEAT Fl NI F H SHE 955 S
g,

Options:

41652940726, TAA FTITT

41652949727, VI SIS
41652949725, S TR

41652949729, 01 ATTEH oy

Question Number : 43 Question Id : 41652912738 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

100 mL of a water sample contains (.51 g
of calcium bicarbonate and 0.73 g of
magnesium bicarbonate. The hardness of
this water sample expressed in terms of

equivalents of C H‘CC'3 is :

(molar mass of calcium bicarbonate is
162 g mol ~ ! and magnesium bicarbonate
is 146 g mol 1)

Options:

41652949730, 1000 ppm

41650049731 10000 ppm

41650949730 100 ppm

41652949733, 2000 ppm

Question Number : 43 Question Id : 41652912738 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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U el wiaed % 100 mL H 0.81 g Hfewrmm
AEFEE qA10.73 g HHIEH FEFEAe 2|
59 W Wiaes 1 weral CaCO, + HHged
w9 H a4 T

(o aEFEe 79 AT9EE FEwEe
% AT FAFH HHI: 162 g mol ! 741
146 g mol ~ 1 ¥)

Options:

41650949730, 000 ppm

41652949731, 1000 ppm

41650949732 100 ppm

41652949733, 2000 ppm

Question Number : 44 Question Id : 41652912739 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The correct order of hydration enthalpies
of alkali metal ions is :

Options:
41650949734, LT >Na®>K*>Rb* > Cs™

41655949735 L *Na " >K">Cs™ >Rb

4185004973g Na >LiT > K" >Rb" > Cs”

41652949737 Na® =2 LiT > K" >Cs">Rb”

Question Number : 44 Question Id : 41652912739 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
E g ST o AeETeH Ted 1 W F

€

Options:
41655949724 LiT >Na®>K* >Rb™ > (Cs”

41650949735, LT >Na ">K">Cs™ >Rb”



41650049735 Na >LiT > K7 >Rb" >Cs

416500409757 Na® > Lit> K" >Cs*>Rb?

Question Number : 45 Question Id : 41652912740 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Diborane (B,H,) reacts independently with
0O, and H,0 to produce, respectively :
Options:
41652949738, SR gandillh

HBO, and H3BO,
41652949739, = £ y

52{33 and I-I%BD%
41552949740, E - .

B,O and [BH,]
41852949741 < -

Question Number : 45 Question Id : 41652912740 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 4 WrongMarks: 1

=MEEi4 (B,Hy), O, 41 H,O & 919 a3 &9
4 A F3 FH: Iofed F 8
Options:

41650949735, HabOs T4 B0,

HBO, 741 H,BO,
41652949739, = > s

B,O, 741 H,BO,
41622849740, = - 370

B,O, 9491 [BH
41652949741, 2 O [BH,]
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Correct Marks: 4 Wrong Marks: 1

The lanthanide ion that would show colour
IS :
Options:

3 i
41652049742 Gd



.
41652949743, Sm
41652949744, La’’

3 ]
41652949745, LU
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Options:

=] 3 L
41652049742, Gd

.
41652949743, Sm

a3+
41652949744, La

3 'l
41652949745, Lu
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Correct Marks: 4 Wrong Marks: 1
The following ligand is :

Options:

4165004074, identate

41652949747 tridentate

41650949745 letradentate

41652949749, hexadentate
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Correct Marks: 4 Wrong Marks: 1



frefafa derr &
r T-NEt,

/N---._E_h_
5 < —~ o g —~ P
b i:,__,: %{j C .‘ L >_{T

Options:

41652949746, fs_“‘f!{

41650049747, A0

416525843748, qEg

41652949749, 1% o0¢

Question Number : 48 Question Id : 41652912743 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The correct order of the spin-only magnetic

moment of metal ions in the following low-
spin complexes, [V(CN)]*~, [Fe(CN) J*~,
[Ru(NH;)g]* *, and [Cr(NH;)g]**, is :
Options:

I?: 2- 3' ol 'j T
41652949750 Vo > Cr=" > Ru’" > Fes

24 3+ —~_ 4 3 7 4
41650949751 Vo > Ru?m > Cro" > Fes

7 4 3 4 0,2+ 72 +
41652949752, CI- > Ru?™ >Fe " >3

2 4 = 2+ ey 34 = T k
41650049753 <F >V Ru Fe?
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fed T feE-g=wm "0 [V(CN) 4,
[Fe(CN)g]*~, [Ru(NHz)J?* =1
[Cr(NH,) 2+ H 91 1A & F=60 °e
A AT 1 HE

Options:



V2t > Crit > Ru’t > Felt

41652949750,
2+ %4 —~_2 4 7.2 4
41652949751 Vo > Ru’” > Cr=" > Fe®
7 %4 . 7 4 77 4
41650049750 Cr-t > Ru?* >Fet® >V

7 4 2 4 34 .
- = - U
41652049753, T >V Ru Fe?

Question Number : 49 Question Id : 41652912744 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Which is wrong with respect to our
responsibility as a human being to protect
our environment ?

Options:
41659549754 Setting up compost tin in gardens.

41652949755, Using plastic bags.

41655949756, Restricting the use of vehicles

Avoiding the use of floodlighted

41852949757, facilities.

Question Number : 49 Question Id : 41652912744 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
S % A AN a0 F HE o+ fon
zarl faeeifEl & Hed § = e 22
Options:
41652949754, FE1 H FER fo7 T

41652949755, AT < 1 FHM HTA

41652949756, el o FATT T A== &7

41652049757, & A AT < FAT T T
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Correct Marks: 4 WrongMarks: 1



Assertion : Ozone is destroyed by CFCs in
the upper stratosphere.

Reason: Ozone holes increase the
amount of UV radiation reaching the earth.
Options:
Assertion and reason are correct, but

the reason is not the explanation for

41650040755, he assertion.

Assertion is false, but the reason is
41652349750, correct.

Assertion and reason are both correct,

and the reason is the correct

41652949760, explanation for the assertion.

41652049761 Assertion and reason are incorrect.
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HYF  LIAERE F I 90 H CFCs G

A 1 fam 2 2

FHIIOT ; ST fodl | geslt W 9ga A
UV fafewzoii =1 9 == 21

Options:

FYT T FR HEl & T FEW, FIA
41650949753, I HEl =ARAT & €|
41652949759, o ol T W] FEV TE E

F99 TG FO oH Fal & AT HE,
41650949760, I HI el SATEA FIA ¢ |

416525843761, I o R %t
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Correct Marks: 4 Wrong Marks: 1



In order to oxidise a mixture of one mole of
each of Fe(,0,, Fe,(C;0,); FeSO, and
Fe,(50,), inacidic medium, the number of
moles of KMnO, required is:

Options:

41652949782, 1

41652949783, 1.0

-2

41552343764,

416525943765,
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AT J=H H, FeC,0,, Fey(G,0,)5, FeSO,
a9l Fe,(S0,), T4 & Us Hiel fHg0 =1
ITHEEd FH F FeT AEeEEH KMnO, < Hieli
=1 HeA B

Options:

41652949782, 1

41652949763, 1.0

-2

41552343764,

416525943765,

Question Number : 52 Question Id : 41652912747 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 4 WrongMarks: 1
Element ‘B’ forms ccp structure and “A’
occupies half of the octahedral voids, while
oxygen atoms occupy all the tetrahedral
voids. The structure of bimetallic oxide is:
Options:

g

A,BO,
41652949766, <

AB,O,
41652949767, o

A,B.O
41652949768, ~ + 2



A,B,O
41552949769, <

Question Number : 52 Question Id : 41652912747 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 4 WrongMarks: 1

T B, cop W= 31 € T4 ‘A’ SRR
fifaedi & a9 § Sufe@ 81 w=fF st
] Gt AquRasd i § sufem 7
fpenfers siwaEe &1 9091 ¢

Options:

g

A,BO,
41852943766 ©

B,O

AB,O,
41652949767, =

A,B.O
41652949768, ~ 4+ 2

A,B,0O
416525949769, <

Question Number : 53 Question Id : 41652912748 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The quantum number of four electrons are
given below :

3 n=4[1=2 mfz—Z, mﬁ=—‘;”z

I. n=3I=2 m=1m=+

Ol. n=4,I=1m=0m=+%

IV. n=3I1=1m=1m,=-%

The correct order of their increasing
energies will be :

Options:
AieEssagrrg Telbelllaly

416525843771, Inlixlety

41652049772 IV <II<II<I

41652949773, IV <II<III<I

Question Number : 53 Question Id : 41652912748 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 4 WrongMarks: 1



L n=4 =2 m;= — P m, = —145
II. n=3%1=2 m;=1,m = + 14>

Ol. n=4,I1=1, m=0m,=+%

. n=31I=1 m;=1, m = — 15
TIHT Tl Sl F Tl FH 2O ;
Options:

41652949770, LS <II<IV

416525843771, Inlixlety

41652049772 IV <II<II<I

41652949773, IV<II<II<I

Question Number : 54 Question Id : 41652912749 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

For silver, C (| K 1mol~1)=23+0.01T. If
the temperature (T) of 3 moles of silver is
raised from 300 K to 1000 K at 1 atm
pressure, the value of AH will be close to:
Options:

41652949774, 13 K

416525943775, 21K

41652040776, 10 K]

41652949777, 02 K]

Question Number : 54 Question Id : 41652912749 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

fae=R % g, C,( K~ 'mol ~1)=23 +0.01T.
I 1 atm 39 T f9ee1 & 3 HE & amd (T)
300 K 9 =@t 1000 K &1 99 @ AH &1 AH
ToFHe Tl 2 7

Options:

41652949774, 13 K]



416525943775, 21K

41652949776, 10 K]

41652949777, 02K]

Question Number : 55 Question Id : 41652912750 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Which one of the following equations does
not correctly represent the first law of
thermodynamics for the given processes
involving an ideal gas ? (Assume non-

expansion work is zero)

Options:

41652949775, 1sothermal process: q=—w
41652049779 Cyclic process: q=—w
41652949750, 1sochoric process : AU=q
4165004g75; idiabatic process : AU=—w

Question Number : 55 Question Id : 41652912750 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

= 8 ¥ F9 W FHE geieEATEEE &
goq g =1 i3 T wwHl & fag, faad
eyl 9 ¥, WE B H gEga el #eal ©
(WM & T A9ERy #1779 2)

Options:

4165054077g, SOA AHH 1 q=—w
41652949779, T APH 1q=—wW
41650949750, TAdrs HhH : AU=q

41652949781 o 9HH 1 AU=—w
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



The vapour pressures of pure liquids A and
B are 400 and 600 mmHg, respectively at
298 K. On mixing the two liquids, the sum
of their initial volumes is equal to the
volume of the final mixture. The mole
fraction of liquid B is 0.5 in the mixture. The
vapour pressure of the final solution, the
mole fractions of components A and B in
vapour phase, respectively are :

Options:

4165094975 200 mmHg, 0.4, 0.6

416520949753, 420 mmHg, 05,05

41652949754, 200 mmHg, 0.5,0.5

41652049755, 00 mmHg, 04,06

Question Number : 56 Question Id : 41652912751 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
298 K T ¥[5 B9 A 91 B % =1 SE HH9:
400 71600 mmHg ¥1 A =i 1 et =
I TR Sl %1 40 39 sifow fagm
& AT F A ¢ | fagm H 29 B F A
3] 057 S faemEm w1 9w 7
A TITB SIS 1 AT W H A 0] S
FHI: B

Options:

41652949752, 200 mmHg, 04, 0.6

41652040753, 420 mmHg, 05,05

416523845754, 200 mmHg, 0.5,0.5

41652849785, 20 mmHg, 04,06

Question Number : 57 Question Id : 41652912752 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



If solubility product of Zr,(PO,), is denoted
by K—‘*‘P and its molar solubility is denoted

by 5, then which of the following relation

between S and K-‘*P is correct 7

Options:
e Y
S= —}\"“’1
144
41652949736, 4
e \I‘;'I
S = Kep
929
41652949787, -
K, o
5= _"91
6912
41652949788, 4
ﬂz(ﬁ"’
21A
41652949789 A /
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A& Zr;(POy), F TareTal ToF®a i K, 5
AT ST Hier faerad F1S 5 A sgad F:3d
& qS TAK,, F e -

Options:

416525943756,

41652343757,

416852349785,

4165259437859,



Question Number : 58 Question Id : 41652912753 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

=y
=
i

Given that EDg;Hgﬂz +1.23V;

S

E 5,08 /508~ 205V
B /== +1.09V;

E‘AUE_;Au: +14V
The strongest oxidizing agent is :

Options:

41652949790,
3.

41652940791, AU

41652949792, ~r2

416529497393, <

Question Number : 58 Question Id : 41652912753 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 4 WrongMarks: 1
: o
e ™, By 0= +1.23V;

S

="
5,02~ /507~ 205V

Ep,, /5= = +1.09V;

S

r;':*su3+;“ﬁu= +14V

A=oTdH 9 %':
Options:

N
hz'ﬂé

418529497390,

3 ]
416520940791, AU

41650949792, B2

418529497935, 03

Question Number : 59 Question Id : 41652912754 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 4 WrongMarks: 1

For the reaction 2A+ B —C, the values of
initial rate at different reactant
concentrations are given in the table below.

The rate law for the reaction is :

[A] (mol L=Y)([B] (mol L.=1) é;ﬂi‘i".:_l]
005 0.05 0.045
010 0.05 0.090
020 0.10 0.72
Options:

41652949794 Rate=Kk[A][B]

41652949795, Rate=K[A]*[B]

41652949796, Rate=k[AJ[B]7

: = 2 2
41652949797, Rate=KkIA]"B]

Question Number : 59 Question Id : 41652912754 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
ATFT 2A +B— C & fod, safuasrat =i
fafve ArEmell W IREYE =T & 91 A 2
TE wifee H fed ¥ sifafEn F fag @

IREL] %T'TT -
i .| SR
[A] (mol L™Y([B] (mol L= (ol L—1s~1)
0.05 0.05 0.045
0.10 0.05 0.090
0.20 0.10 0.72
Options:
41652949794, o= K[A][B]
==Kk[A]*[B]

4165259437395,



2
41652049796, o= KIA][B]

N 212
41652949797, <I=k[A]7[B]

Question Number : 60 Question Id : 41652912755 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Adsorption of a gas follows Freundlich

adsorption isotherm. x is the mass of the

gas adsorbed on mass m of the adsorbent.

x
The plot of I“F’E versus log p is shown in

x
the given graph. — is proportional to :
m

e -...-'r--
x w12
It)g — _.-*f _____
m 3
log p
Options:
i
41552949795, p

41652949799, F

73
41652949800, P

41652949801, F
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UF TH w1 Aty wEesfas Sty

THAY &1 e A2 | AT % m S=99H

- X =

W AT T % g=EA a8 log— #
m

fa%s log p &1 w2 fod 79 A% H =301 741

2z iﬁumaﬂqn’ﬁm%a%%

T A
log—: | et
Tom 3
log p
Options:
¥
41652949795, p
3%
41652949799, b~
73
41652949500, P
pH
41652949501,
Mathermatics
Section Id : 416529252
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 30
Number of Questionsto be attempted: 30
Section Marks: 120
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 416529392
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 41652912756 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



| (1 —x)
x)= log.| ——
If f(x) gekllx,;

Llxl <1, then

[ 2x

|ise ual to :
1 |.3L'2/' q

Options:
2
41652949802, 2 (X7

41652949803, 2 (¥)

41652949304, 2 (¥)

41652040305, (@)

Question Number : 61 Question Id : 41652912756 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

i Lo
i 1 = &
gz f(x) = loge| —— |, x| <1 B,
i !
2x )
l = | e ?
V1 4+ x*
Options:

o'
41652949802, o (X7
41652949803, 2 (¥)

41652949804, 2 (¥)

41652040305, (@Y
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Correct Marks: 4 WrongMarks: 1
If « and B be the roots of the equation
12 —2v+ 2 =0, then the least value of n for
o

=1 ig:

hicl [{“
which | —
\i:}’;-'
Options:

41652949806, O

41652949807, 4



41652949808, O

415523435809, 2
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afa TR x2—2x+2=0 % e o 991 B B,
.fn' V!

A n @ =@y oF, fes foo |E| = 1%,
B

2
Options:
41652949806, 2

41652049807, 4

41652949808, O

I~

418523949809,
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Correct Marks: 4 Wrong Marks: 1
The sum of the solutions of the equation
Wx =2/ + x(Wx —4)+2=0, (x>0)
is equal to :
Options:
41652949810, 4

41652949811, 9
41652949812, 10

41652949813, 12

Question Number : 63 Question Id : 41652912758 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Hfia]

Wx = 2| + Jxlvx — 4) + 2=0, (x>0)
& BAl 1 AN T 2

Options:



41652049810, 4

41652949811, 9
41652949812, 10

41652949813, 12
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i k1

COSs0 Siro

Let A = , (e R) such that

S10d CoS )

\ -

39 0 1
- = { 0 |- Thenavalueof ais:

Options:
41652949814, 0

13
41652949515, 64

dE

416525943816,

1
41652843817, 16
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o COS0 sina ) S
A= . s , (ae R) 39 TN
| sina  cosa )
- R i I
:rb?-fthj" :ll 0 ,muaﬂummﬂ%:
L o
Options:

41652949814, 0

e

416525843815,

ﬂ

LI
ra

416525943816,



1
416852949817, 16
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Correct Marks: 4 Wrong Marks: 1
The greatest value of c € R for which the
system of linear equations

x—cy—cz=0

cx—y+cz=0

cx+cy—z=0

has a non-trivial solution, is :
Options:

416529495818, — 1

41652949819, U

B3| =

416525943820,

(=]

416525943821,
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ce R & 31feman aF, e fom g v
T
X—cy—cz=
cx—y+ecz=0
a+cy—z=0
F1 Uh =D BA 8, & :

Options:
41652949818, — 1

416529495819, U

[

41852949820,

I~

415523943821,
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All possible numbers are formed using the
digits 1, 1, 2, 2, 2, 2, 3, 4, 4 taken all at a
time. The number of such numbers in
which the odd digits occupy even places
is:

Options:
41652949822, 160

41652040823, 162

41652949824, 179

41652949525, 180
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a3 1,1,2,2,2,2,3,4,4 %1 Uk H1Y ol
oft 399 I 9915 M8 21 39 UHR i
g, T fam o6 @9 = WA,
e 2

Options:

41652949822, 160

41652040523, 162

41652949824, 179

41652949525, 180
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The sum of the co-efficients of all even
degree terms in x in the expansion of

AN b .
{3:1«."'1'3 1) + le= ¥a® 1) - (x>1)
is equal to :

Options:

41652940526, 24
41652949527, 20

41652949828, 29



41652949829, I2
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¢ B
{:fl",,";ﬁ:3 1] Gt Vx© 1) (x>1)
& TEW 4 x & HHl HUETT 98] % IR
0T ST B
Options:

41652949526, 24
41652949827, 20

41652949828, 29

41852949829, 32
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The sum of all natural numbers ‘n’ such that
100 <n<200and HCF. (91,n) > 11is:

Options:
41652949830, 3203

41652049531, 9221

41652940832, 3121

41852849533 303
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ud Bl Whd Hemsti ‘o', |1 36 UHH & b
100 < n < 200 @1 H.CF. (91, n) > 1, %1 3
-

Options:

41652949830, 2203

41652949531, 9221



41652949832, 2121

416529495833, 3303
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The sum of the series
2-20C, +5-20C, +8-0C, +11-2C, +... +
62-20C,, is equal to :

Options:

41652949834, 224

415525943835, <

415525948836, £

41652949837, 22

Question Number : 69 Question Id : 41652912764 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

goft 2-20C,+5-20C, + 8-2C, +11-0C; +... +
62-0C,,, &1 AN I 2

Options:
41652949534, 2

41652949835, 2

4165259439836, £

"%

41552343837,

Question Number : 70 Question Id : 41652912765 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

hi]'lz_'l'

lim ———— equals :
x—0 \‘"E q

W14+ cosx

Options:

41652949838, N2

41852949859, 4



415523435840, \'E

41650949841 2V2

Question Number : 70 Question Id : 41652912765 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

2

Sin” x L
e 2 -

im —

r—0 2 l + cosx

Options:

41650949838, N2

416525943829, 4

416525943840, “*'E

41652949841, 2v2

Question Number : 71 Question Id : 41652912766 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
If
; 3

/ P~ R R
{1 | +3 cosx + sinx (. m)

2y = l cot "~ | e | =
L

=
Lecosy —+/3siny )

V.
then —— is equal to:
ten — - isequal to

Options:

o |

416525943842,

|

o |

4155253435843,

o | A

4165259435844,

|

)
41652949845, 3

Question Number : 71 Question Id : 41652912766 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



afz

32
3 X
( 1 | V3 cosx + sinx | T )
2y = Icut | : | xeln _|
1 \cosx — +3sinx /) . 24

L d
2. al'fam—mr{%

Options:

»
41652949842 O

Wl

416525943843,

o | g

41552949544,

21.

L | g

418529495845,

Question Number : 72 Question Id : 41652912767 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Let f: [0, 2] — R be a twice differentiable
function such that f"(x) > 0, for all xe(0, 2).
If d(x) =f(x)+ f(2—x), then & is :

Options:
increasing on (0, 1) and decreasing on

41652949846, (L 2).

decreasing on (0, 1) and increasing on
41652949847, (1 2)-

41652949545 NCreasing on (0, 2)

AR RAS decreasing on (0, 2)

Question Number : 72 Question Id : 41652912767 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

£:10,2] = R @ &R srasherTa we 59 YhT 2
fh =l xe(0, 2) & form () >0 21 afg
d)=f(x) +f2—x) 2, T &

Options:



1 © 2 E 2
41652949846, (O 1) LA T A (1, 2) TBTEEH 2|

T ; - Y e 2
41655940847 (0-1) TUETEAE T (1, 2) W MW 2|

2 2 =
iigsseisnss (O RIWEH R

0 - 3
disessaggay U2 WEHEH &

Question Number : 73 Question Id : 41652912768 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

I[fS, and S, are respectively the sets of local
minimum and local maximum points of the
function, f(x)=9x*+12x>— 3622 + 25, xe R,
then :

Options:

41652949850 S1=1—2 055;={1}

A
41652049851 "1- 12 1k:5,={0}

o -— . — ':}
41850049550 1= 15;=1{0,2

sl ARl
41650049853 D1- L~ 285,=10,1}

Question Number : 73 Question Id : 41652912768 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
afg ®ed f(x) =92 +12¢° - 3602+ 25, x e R,
& T ey aon s swan fags &
TY=T HHI: S, 441 S, 7, Al
Options:

41652949850 1= 12 05 S, ={1}

o A
stassgusssy At 8 =10)

41652949852, 21—t~ 15, =10,2

e f NG
41652040853, 1= 125 =0.1}

Question Number : 74 Question Id : 41652912769 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



s'mT
I = dx is equal to :

. X
SN —
"

(where ¢ is a constant of integration.)

Options:
41652949854 Xt 2 sinyx +sin2x+c¢

4+ 2 8i g,
AtEEngiesss T2 amEt2snlyde

41652949856 2y +siny+sin2x + ¢

41652949857, 2x +sinx + 2 sin2x +c

Question Number : 74 Question Id : 41652912769 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

s —~
J. ; d-l GER N A e ;?.
sin—

2

(?ﬂu ¢ Ush HATehold 3= ?;”

Options:
41657a49854 X1 2 siny +sin2x + ¢

r 4V of (T
41650949855, ¥ T28mx+2 82y +C

41652949556, 2x +sinx+sin2x + ¢

41652949857, 2r+siny + 2 sin2x +c¢

Question Number : 75 Question Id : 41652912770 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
2 - xcosx

I f(x) ==

2 + xcosx
(x = 0) then the value of the integral

and 8{1] e IDBEI"

LA
J /() dxis:

/4
Options:

41652949858, 10862



log 3
41552949859, Be

41652949360, 108l

41652049861 108€

Question Number : 75 Question Id : 41652912770 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

afg flx) = 2 —xcoax ag1 g(x)=1log,x,
' 2 + xcosx '
-
e = f.i

(x>0) F @ aama [ g(f(x))dx &1 WA
-/

2

Options:

41652949858, 1082

log 3
41552949859, Be

41652949860, 108l

41652949861, 108e€

Question Number : 76 Question Id : 41652912771 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The area (in sq.units) of the region
A={(x, y)eRxR|0=x =3, 0=y =4,
yixz-f 3x} is :

Options:
41652049862, 8

41652949863, 3

41652049864, ©

53
41652949565, ©



Question Number : 76 Question Id : 41652912771 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1
g9 A={(x, y)eRxR|0=x=<3, 0=y=4
y=x2 + 3x} F1 &AFe (Hf gewrsai 4) 2
Options:
41652949862, 8

41652949863, 3

41652949864, ©

53
41652949565, ©

Question Number : 77 Question Id : 41652912772 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

Lety=y(x) be the solution of the differential

equation, (x%+ 1}3% +2x (x> + I)y=1such

that y(0)=0. If Ja y(1) = _5—_; then the
value of "a’ is:

Options:

41652949566, 10

1
41652949887, 2
41652949868, 1

1
41652a49869. 4

Question Number : 77 Question Id : 41652912772 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



AT y=y(x), HIHA  HHIHI

(2 + 1}2% +2x(x2+ 1)y =171 74 2, Fath

y(0)=0 21 =Rz Va y(1) = ,}—T; 2, @ a

oM 2 :
Options:

s
o

41552343866,

13| =

415525843867,

=l

416525943865,

e |

415523435869,

Question Number : 78 Question Id : 41652912773 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Let O(0, 0) and A(0, 1) be two fixed points.
Then the locus of a point P such that the
perimeter of AAOP is 4, is :

Options:
X -
41650949870, X~ 8y +8y=16

41652949871, - +8y7 —8y=16
41650049870, SXT -9 +9y=18

2 4 BT
41652949873 Sx~ 9y~ -9y =18

Question Number : 78 Question Id : 41652912773 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

gH1 O(0, 0) @21 A(0, 1) &t Ffraa forg 2,
uH fog P i3k fet AAOP =1 aftmg 4 21, =1
ferguy 2

Options:

41652949870, 2X° 8y’ +8y=16



41652949871 - +8y2—8y=16

41650049870, SX 9y +9y=18

e
41652949873, ox- t9y=—9%y=18

Question Number : 79 Question Id : 41652912774 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

A point on the straight line, 3x+5y=15
which is equidistant from the coordinate
axes will lie only in :

Options:

st d . tl ,
41652949874, 1 » 2"¢ and 4™ quadrants

st v
41652949875, | quadrant

st e :
41652949876, 1 and 2'¢ quadrants

4th guadrant
4152949877, 49

Question Number : 79 Question Id : 41652912774 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

el @ 3x+5y=15 W feya v feg, o
o we | TugEy 2, sEe fora 2
Options:

1652940574 T2, Toefrr qen =gel garter |

416525943875, SR FgURT |

41650040576, 3o A fgdia =gute

416525943877, Hﬁ?i Eﬁ;—[—'aﬁm H

Question Number : 80 Question Id : 41652912775 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The sum of the squares of the lengths of
the chords intercepted on the circle,
x?+y?=16, by the lines, x + y=n, neN,
where N is the set of all natural numbers,
1S :



Options:

41652949878, 105
416529495879, 210

41652a49580. 320

41652940851, 160

Question Number : 80 Question Id : 41652912775 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

El x2+ y2= 16 T @l x+ y=n, neN |
N #Hi Teha HEnH] o T 2, g e T8
STl 1 STeEH o 9 A 2

Options:

41652949878, 105
416529495879, 210

41652a49580. 320

41652940851, 160

Question Number : 81 Question Id : 41652912776 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The shortest distance between the line y=x
and the curve y>=x—21is:

Options:

11
41652949852, 42

v

41652949883, 442

7
41652949884, 8

"
41652949885, <

Question Number : 81 Question Id : 41652912776 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



W@ y=x A I y>=x—2 % 1= | AT

Options:
11
sisessiamss B2
7
41652949883.‘4J§
7
41652949824, 8
41652949885, 2

Question Number : 82 Question Id : 41652912777 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

If the tangents on the ellipse 4x% + };2 =5 at
the points (1, 2) and (a, b) are perpendicular
to each other, then a is equal to :

Options:

41652949886, 17

41652949887, 17

41852949888, 1/

41652949889, 17

Question Number : 82 Question Id : 41652912777 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
afe a2+ y2=8 % Fagal (1, 2) aw
(a, b) W @i 7% vasfiEnd weR dqqd 2, ql
a2 TR 2 :
Options:

2
41652949886, 17



128

41652949887, 17

4
41652949888, 1/
b4
41652949889 17
Question Number : 83 Question Id : 41652912778 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

The length of the perpendicular from the
1, 4) on the straight line,

point (2,

x+3 _y—-2 _
10 -7

Options:

i5 :

=]

41650049590, 1ess than 2

41652949891 greater than 2 but less than 3
41652949897 greater than 3 but less than 4

41650940893, Sreater than 4

Question Number : 83 Question Id : 41652912778 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1
g (2, —1,4) H W& T

x+3 y—3 A . .
S = - W dHE T A #
10 7 v B

A
Options:

> s
416520949890, 2 1 %4 &l

|.—.|||-.;|

NI TR . T
41650040891, 2 B HHH T 3 H 4 2

. 1T i R
41652949892, 0 1 st 9id 4 H HY 2

41652949893, 4 H 31 2|

Question Number : 84 Question Id : 41652912779 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 4 WrongMarks: 1
The equation of a plane containing the line
of intersection of the planes 2x —y—4=0

and y +2z—4=0 and passing through the
point (1, 1, 0) is :

Options:
41650949894 ¥ Y 2=0
41652949895, Y H3y+z=4

41652049896, X—3Y—2z=—2

=2

I~

41652949897, 2

Question Number : 84 Question Id : 41652912779 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

quadl 2x—y—4=0 a4 y+2z—4=0 i
yfdemes @ 1 Hdfdee we arat au fag
(1,1,0) ¥ & IH arel Jaed & qdiwo]
2.

Options:

41650949894 ¥ Y —2=0

41652849595, YH3y+z=4

41652949896, X—3Y—2z=—2

=2

I3

41652049597, 2

Question Number : 85 Question Id : 41652912780 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The magnitude of the projection of the

M M My
vector 2i +3j +k on the wector

perpendicular to the plane containing the

M M My P M ]
vectors ¢ ; t kand §{ + 2}' 3k, 18:

_A

Options:

4165259438395, 3"@



3
5

418529495899,

4165259433900, ‘-"IE

E

41652949901, V2

Question Number : 85 Question Id : 41652912780 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Afew 20 +3j + k H A o+ j o+ k

G 2] 4 3k T FATEL F T qUad
% oTaady Afew 9 ey = gftgmr 2 .

Options:

41650949898, V6

3
4

416525943899,

41552343300, ""IE

B

41652949901, V2

Question Number : 86 Question Id : 41652912781 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The mean and wvariance of seven
observations are 8 and 16, respectively. If
5ol the observations are 2, 4,10, 12, 14, then

the product of the remaining two
observations is :

Options:
41652a49902. 40
41652949903, 49

41652949904, 40

41652949905, 48



Question Number : 86 Question Id : 41652912781 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 4 Wrong Marks: 1

o7 YeAUTl o WISy 91 WET A9 8 997 16 2
afg 370 | 5 Ueur 2,4,10,12, 14 &, & 99 g
YEAOT 1 AR B

Options:

41652949902, 40

41652949903, 49
41652949004, 49

41652949905, 48

Question Number : 87 Question Id : 41652912782 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Let A and B be two non-null events such
that ACB. Then, which of the following
statements is always correct ?

Options:

416529493086, P(AB)=1

41652949907, LAIB)=P(A)

41652949908, L (AB)=P(A)

41652049909, L(AB)=P(B)—P(A)

Question Number : 87 Question Id : 41652912782 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

oHT A a9 B g vt syft (non-null) BEEID
2 Ac BRI @ f= 9 | =9 @ Faw 78
HE 27

Options:

41652949906, P(A[B)=1

41652949907, LAIB)=P(A)

41652949905, | (AB)=P(A)



41652949909, L(AB)=P(B) —P(A)

Question Number : 88 Question Id : 41652912783 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

3 5
If cos(a+ B]=§, six‘u{a--[:’a]:ﬁ and

O<a, Pp< II then tan(2e) is equal to :

Options:

41652949310, 16
41652949911, 16
41652949912, 92

41652949913, 92

Question Number : 88 Question Id : 41652912783 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
5

_ 3
a2 cos(a+p)= 5 sin(a—B)= I} a

O<a p< ZI 2, tan(2a) ST B

Options:

41652949310, 16
41652949911, 16
41652949912, 92

41652949913, 92

Question Number : 89 Question Id : 41652912784 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 4 WrongMarks: 1

3

1(3) 11
If a« = cos 1§|’ p = tan 3 , where
N W, o/

m
O<a,p<7,thena—pisequalto:

Options:

416525943914,

41552543915,

41852949916, !

af 9 )
lan ﬁ|
41652949917, v10)

Question Number : 89 Question Id : 41652912784 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

If."?p\' 1 i\ 3 2
2 « = cos 1§J,15=tan ;|3.'«ﬁ§l
\ ot

O<a,B<—,d a—p T2 :

!u|ﬂ'

Options:

416525943914, ?

415525943915,

415523433916,

af 9 )
lan ﬁ|
41652949917, v10)

Question Number : 90 Question Id : 41652912785 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



The contrapositive of the statement “If you
are born in India, then you are a citizen of

India”, is :
Options:
[f you are born in India, then you are
41650549915 Netacitizen of India.

If you are a citizen of India, then you
41652949919, are born in India.

If you are not born in India, then you
41652949920 are not a citizen of India.

[f you are not a citizen of India, then

41650040901 You are not born in India.

Question Number : 90 Question Id : 41652912785 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
F2H
“afe amg wrEa 0 W= 2, @1 9 U & UE
TR 2 % IidadaEe Y 2
Options:
afs 3wy wwa | o= 3, q 39 YW &
41652949915, I Fal 2l

afs 319 wEA & U A 2 a1 A
41650949919, T H H 7|

afe s wd § 8 o, 9 5 9Ed &
41652949920, T % @ 2
qfz #T9 WA & A0THE 98 2, a@ A
41650049901 WA H TE FH 7|



